B3

ASSIGN 100 TO K

GO TO K, (100, 50, 150 )
KDfEiz 100 sF4THNT

GO TO 100 t[ELCE T/ B,

6
ASSIGN 50 TO K

GO TO K, (100,50, 150)
KDfEIZ 50 BsFMTHNT
GO TO 50 EtREUCEiTic’,

| ASSIGN 15 TO K

GO TO K, (100,50, 150)
KDfEIZ150 psFHToHNIT
GO TO 150 (R T &EITE 3,

6—3 iHEEGO
TO =z
(computed GO TO

statement )

—W [GO TO (n;,nz, ng, - ,nm),i]

TZITy ny,ng,ng, =, ny BIXDEBSTH b, i IZBEH(RF
DEREBIIART ) TH B,

CO)K—C‘;\ gﬁ i OD{E‘CJ: 0\ Ko)%%nl » N2, N3, 77 » Im o)c\f

NO\DKT 5, TOHEOEH i OfEid. FIHTEGO TO XoEsd
ERizh, ASSIGNXIRE hEZoNEDTIZEL . BifikAXZE T
BHTRHUT I 7210 i DEIZILUETHD. m (1 v IRICEDLA
IEXDESOEE) UT T TR 5720,
ZOXIEDEDL S B &% 4D,
1) i Ol 1DEE. GO TO n, LRIUBRTH 3.
2 ZEHiOfE. 20EE, GO TO n, EREUSERTH 3,
@) LIFEfFIT, 5 O, mDE 5. GO TO nhtRAUBETH
%,
1)
GO TO (100 , 50 , 150 ) , I
IOfEis1dEx GO TO 100
” 2 » GO TO 50
” 3 7 GO TO 150
ERCC EiTiz3,

6—4 BWIF=x
(arithmetic IF

statement)

—#% [IF(AE)n,.ns, n

cZit, AEERK (arithmetic expression) THhH. ni, n,,
n; RXDEBTH %, 12120 ZOXIKE A LN AEMGRORIZ, BHEY
o EHED, BREEREE OWTh TRITHIER S 20,




